

## Disclaimer

The solution at hand was written in the course of the respective class at the University of Bonn. If not stated differently on top of the first page or the following website, the solution was prepared and handed in solely by me, Marvin Zanke. Anything in a different color than the ball pen blue is usually a correction that I or a tutor made. For more information and all my material, check:

<https://www.physics-and-stuff.com/>

**I raise no claim to correctness and completeness of the given solutions! This equally applies to the corrections mentioned above.**

This work by [Marvin Zanke](#) is licensed under a [Creative Commons Attribution-NonCommercial-ShareAlike 4.0 International License](#).

1)  $x_{\mu}' = \Lambda_{\mu}^{\nu} x_{\nu}$  ,  $\Lambda = \begin{pmatrix} \gamma & -\beta\gamma & 0 & 0 \\ -\beta\gamma & \gamma & 0 & 0 \\ 0 & 0 & 1 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}$  ,  $\det \Lambda = 1$

$\Lambda_{\mu}^0 x_0 + \Lambda_{\mu}^i x_i$

$v = \beta c$  ,  $\gamma = \frac{1}{\sqrt{1-\beta^2}}$  ,  $c=1$

1.  $d^3x \equiv dx dy dz$  we use the sub-matrix, containing the transformation of the spatial components.

$\tilde{\Lambda} = \begin{pmatrix} \gamma & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{pmatrix} \mapsto \det \tilde{\Lambda} = \gamma$

$\Rightarrow d^3x' = (\det \tilde{\Lambda}) dx dy dz = \gamma dx dy dz$

*dependence gets lost  $\rightarrow$  wrong!*

2.  $dt^4x = dt dx dy dz$

$dx' = (\gamma dx - \gamma v dt) \mapsto dx' dy dz = (\gamma dx - \gamma v dt) dy dz$

$\mapsto d^4x' = (\det \Lambda) dt dx dy dz = dt dx dy dz = d^4x$

3.  $\int d^4p \delta(p^2 - m^2) = m^2$

$\int d^4p$  L.I. ,  $\delta(p^2 - m^2)$  L.I.

Since everything but  $\delta(p^2 - m^2)$  in this eq. is definitely L.I.,  $\delta(p^2 - m^2)$  is L.I. as well.

4. Consider  $\int d^4p \delta(p^2 - m^2) \theta(p^0)$  ,  $\delta(f(x)) = \sum_i \frac{\delta(x-x_i)}{|f'(x_i)|}$

$E^2 - \vec{p}^2 - m^2 = f(E)$

$= \int d^3p \frac{1}{2p^0} \delta(p^0 - \sqrt{\vec{p}^2 + m^2}) = \int \frac{d^3p}{2p^0}$

$\mapsto d^4p \delta(p^2 - m^2) \theta(p^0) = \frac{d^3p}{2p^0}$  ,  $p^0 = E$



and thus  $\frac{d^3p}{2p^0}$  is L.I.

$\Lambda$  Sym., but  $\Lambda^T$  which Component?  $\begin{pmatrix} \Lambda_{11} & \dots & \Lambda_{13} \\ \Lambda_{21} & \dots & \Lambda_{23} \\ \Lambda_{31} & \dots & \Lambda_{33} \\ \Lambda_{41} & \dots & \Lambda_{43} \end{pmatrix}$   
for  $x' = \Lambda x$   
Why not just simply calc.  $\Lambda d^4x \rightarrow d^4x'$ ?  
 $\rightarrow$  2 dependencies  $\rightarrow$  need matrices for both and thus det.

What about the integral itself?  
 $\rightarrow$  Somehow no sense; everything contained in the differentials

Do we need  $\theta(p^0)$  here or just w/ neg. / pos. energy sol.?

Why  $\delta$  L.I.?  
 $\mapsto E' = \gamma E - \beta \gamma p_x = \gamma(E - \beta p_x)$   
and no sign change;  
 $\theta(p)$  just gives a number (L.I.)

$$2) \mathcal{L} = \partial_\mu \phi^* \partial^\mu \phi - m^2 |\phi|^2 = \partial_\mu \phi^* \partial^\mu \phi - m^2 \phi \phi^*$$

$$1. S = \int d^4x \mathcal{L}$$

$$\delta S = \int d^4x \delta \mathcal{L}(\phi_1(x), \partial_\mu \phi_1(x), \phi_2(x), \partial_\mu \phi_2(x))$$

$$= \int d^4x \sum_{i=1,2} \left\{ \frac{\partial \mathcal{L}}{\partial \phi_i} \delta \phi_i + \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi_i)} \delta (\partial_\mu \phi_i) \right\} = \int d^4x \sum_{i=1,2} \left\{ \frac{\partial \mathcal{L}}{\partial \phi_i} \delta \phi_i + \partial_\mu \left[ \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi_i)} \delta \phi_i \right] - \partial_\mu \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi_i)} \right\}$$

Surface term vanishes, as  $\phi_i = 0$  at boundaries

$$= \int d^4x \sum_{i=1,2} \left\{ \frac{\partial \mathcal{L}}{\partial \phi_i} \delta \phi_i - \left( \partial_\mu \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi_i)} \right) \delta \phi_i \right\}$$

$= 0$ , E.L. eq., as this holds  $\forall \delta \phi_i$ , as d.o.f.

$$\rightarrow \frac{\partial \mathcal{L}}{\partial \phi_i} - \partial_\mu \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi_i)} = 0 \Leftrightarrow \partial_\mu \partial^\mu \phi + m^2 \phi = 0$$

$$\Leftrightarrow (\square + m^2) \phi = 0, \square = \partial_\mu \partial^\mu$$

$$2. \phi(x) \rightarrow e^{i\alpha} \phi(x) \mapsto \tilde{\mathcal{L}} = \partial_\mu (e^{-i\alpha} \phi^*(x)) \partial^\mu (e^{i\alpha} \phi(x)) - m^2 (e^{i\alpha} \phi(x)) (e^{-i\alpha} \phi^*(x))$$

$$\phi^*(x) \rightarrow e^{-i\alpha} \phi^*(x)$$

$$\stackrel{\alpha \text{ constant}}{=} \partial_\mu \phi^*(x) \partial^\mu \phi(x) - m^2 \phi(x) \phi^*(x) = \mathcal{L}$$

What transformation is this physically?  $\rightarrow U(1)$  global transformation of arbitrary phase

$$3. \mathcal{J}^\mu = \sum_i \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi_i)} (\Delta \phi)_i, \phi(x) \rightarrow e^{i\alpha} \phi(x) = (1 + i\alpha + \mathcal{O}(\alpha^2)) \phi(x)$$

$$\phi^*(x) \rightarrow e^{-i\alpha} \phi^*(x) = (1 - i\alpha + \mathcal{O}(\alpha^2)) \phi^*(x)$$

$$\Rightarrow \Delta \phi(x) = i\alpha \phi(x)$$

$$\Delta \phi^*(x) = -i\alpha \phi^*(x)$$

factor  $\alpha$  here?  $\phi(x) \rightarrow e^{i\alpha} \phi(x) = \phi + i\alpha \phi = \phi + \Delta \phi$  both possible

$$\mapsto \mathcal{J}^\mu = \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi)} \Delta \phi + \frac{\partial \mathcal{L}}{\partial (\partial_\mu \phi^*)} \Delta \phi^* = (\partial^\mu \phi^*) (i\phi) + (\partial^\mu \phi) (-i\phi^*)$$

$$= i \left\{ (\partial^\mu \phi^*(x)) \phi(x) - (\partial^\mu \phi(x)) \phi^*(x) \right\}$$

$$4. \partial_\nu \mathcal{J}^\nu = i \partial_\nu \left\{ (\partial^\nu \phi^*(x)) \phi(x) - (\partial^\nu \phi(x)) \phi^*(x) \right\}$$

$$= i \left\{ (\partial_\nu \partial^\nu \phi^*(x)) \phi(x) + (\partial^\nu \phi^*(x)) (\partial_\nu \phi(x)) - (\partial_\nu \partial^\nu \phi(x)) \phi^*(x) - (\partial^\nu \phi(x)) (\partial_\nu \phi^*(x)) \right\}$$

$$\stackrel{k.o.e.f.}{=} i \left\{ (-m^2 \phi^*(x)) \phi(x) - (-m^2 \phi(x)) \phi^*(x) \right\} = 0$$

fields commute?  $\rightarrow$  No fermions only bosons here, commute

$$0 = \partial_\nu \mathcal{J}^\nu + \nabla_\nu \vec{J} \sim \partial_\nu \int d^3x \mathcal{L} = - \int d^3x \vec{J} = 0$$

$$3) S = \int d^4x \left( -\frac{1}{4} F_{\alpha\beta} F^{\alpha\beta} \right), \quad F_{\alpha\beta} = \partial_\alpha A_\beta - \partial_\beta A_\alpha$$

$$0 = \partial_\mu \frac{\partial \mathcal{L}}{\partial (\partial_\mu A^\nu)} - \frac{\partial \mathcal{L}}{\partial A^\nu} = \partial_\mu \left( -\frac{1}{4} \right) \left\{ (\partial^\mu A^\nu - \partial^\nu A^\mu) - (\partial^\nu A^\mu - \partial^\mu A^\nu) + (\partial^\mu A^\nu - \partial^\nu A^\mu) - (\partial^\nu A^\mu - \partial^\mu A^\nu) \right\}$$

$$= \partial_\mu (-1) \left\{ \partial^\mu A^\nu - \partial^\nu A^\mu \right\} = \partial_\mu F^{\nu\mu}$$

→ more detail

Using  $F_{0i} = -E^i = -F^{i0}$  and  $F^{ij} = -\epsilon^{ijk} B^k$ , we find

$$0 = \partial_\mu F^{\nu\mu} \Leftrightarrow 0 = \partial_\mu F^{\mu\nu} = \partial_0 F^{0\nu} + \partial_i F^{i\nu}$$

$$\Leftrightarrow \partial_0 F^{00} + \partial_i F^{i0} = \partial_i (-E^i) = -\vec{\nabla} \cdot \vec{E}$$

$$\Leftrightarrow 0 = \vec{\nabla} \cdot \vec{E}$$

$$\nu=j: 0 = \partial_0 F^{0j} + \partial_i F^{ij} = \partial_t (-E^j) + \partial_i (-\epsilon^{ijk} B^k)$$

$$= -\partial_t E^j + (\vec{\nabla} \times \vec{B})^j$$

$$\Leftrightarrow 0 = (\vec{\nabla} \times \vec{B}) - \partial_t \vec{E}$$

$$2. \quad \hat{T}^{\mu\nu} = T^{\mu\nu} + \partial_\lambda K^{\lambda\mu\nu}, \quad K^{\lambda\mu\nu} = F^{\mu\lambda} A^\nu$$

$$T^{\mu\nu} = \frac{\partial \mathcal{L}}{\partial (\partial_\mu A_\lambda)} \partial^\nu A_\lambda - \mathcal{L} g^{\mu\nu}, \quad \mathcal{L} = -\frac{1}{4} F_{\alpha\beta} F^{\alpha\beta}$$

$$= F^{\lambda\mu} \partial^\nu A_\lambda + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta}$$

$$\Leftrightarrow \hat{T}^{\mu\nu} = F^{\lambda\mu} \partial^\nu A_\lambda + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta} + \partial_\lambda (F^{\mu\lambda} A^\nu)$$

$$= F^{\lambda\mu} \partial^\nu A_\lambda + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta} + (\partial_\lambda F^{\mu\lambda}) A^\nu + F^{\mu\lambda} \partial_\lambda A^\nu$$

$$= F^{\lambda\mu} (\partial^\nu A_\lambda - \partial_\lambda A^\nu) + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta} + (\partial_\lambda F^{\mu\lambda}) A^\nu$$

$$= F^{\lambda\mu} F^\nu{}_\lambda + (\partial_\lambda F^{\mu\lambda}) A^\nu + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta}$$

$$= 0 \text{ by e.o.m.}$$

$$= \underline{F^{\lambda\mu} F^\nu{}_\lambda} + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta} = F^{\lambda\mu} \eta_{\lambda k} F^{\nu k} + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta}$$

$$= -F^{\lambda\mu} F^{\nu\lambda} + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta} = F^{\lambda\nu} F^\mu{}_\lambda + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta}$$

$$= F^{\lambda\nu} F^\mu{}_\lambda + \frac{1}{4} g^{\mu\nu} F_{\alpha\beta} F^{\alpha\beta}$$

$$= \hat{T}^{\mu\nu}$$

dependence of  $\mathcal{L}$  is  $\partial_\mu A^\nu$  (yes, but no  $A^\mu$  dep.)

Half of MW eq.?

$$E^i = F^{0i} = \partial^0 A^i - \partial^i A^0$$

$$\vec{E} = -\vec{\nabla} \phi - \dot{\vec{A}}$$

$$\vec{B} = \vec{\nabla} \times \vec{A}$$

already built in the Dirac Lagrangian

same conserved energy? equality good momentum tensor?

just added a derivative

$$\begin{aligned}
 E \equiv \hat{T}^{00} &= F^{10} F^0_1 + \frac{1}{4} g^{00} F_{\alpha\beta} F^{\alpha\beta} = F^{j0} F^0_j + \frac{1}{4} F_{\alpha\beta} F^{\alpha\beta} \\
 &= -F^{j0} F^0_j + \frac{1}{4} F_{\alpha\beta} F^{\alpha\beta} = E^j \cdot E^j + \frac{1}{4} F_{\alpha\beta} F^{\alpha\beta} \\
 F_{\alpha\beta} F^{\alpha\beta} &= F_{0\beta} F^{0\beta} + F_{i\beta} F^{i\beta} = F_{0j} F^{0j} + F_{i0} F^{i0} + F_{ij} F^{ij} \\
 &= -E^j \cdot E^j - E^i \cdot E^i + \epsilon^{ijk} B^k \epsilon^{ijl} B^l \\
 &= -2|\vec{E}|^2 + 2 \sum_k B^k B^k = -2|\vec{E}|^2 + 2|\vec{B}|^2 \\
 E &= |\vec{E}|^2 + \frac{1}{4} (-2|\vec{E}|^2 + 2|\vec{B}|^2) = \frac{1}{2} (|\vec{E}|^2 + |\vec{B}|^2)
 \end{aligned}$$

Same E for T?   
 → yes   
 Only  $A^i \equiv \vec{A}$ ,   
 not  $A_i$ ?   
 $A_i = (\phi, \vec{A})$  so  $A^i = (-\phi, \vec{A})$    
 $F_{0j} = -F^{0j}$    
 $= -F^j_0 = -F^j_0$    
 → yes, put the index up,   
 - for spatial, do not change order.

$$\begin{aligned}
 S^i &\equiv \hat{T}^{0i} = F^{10} F^i_1 + \frac{1}{4} g^{0i} F_{\alpha\beta} F^{\alpha\beta} = F^{10} F^i_1 = F^{j0} F^i_j \\
 &= -F^{j0} F^i_j = -E^j (-\epsilon^{ijk} B^k) = (\vec{E} \times \vec{B})^i \\
 \rightarrow \vec{S} &= (\vec{E} \times \vec{B})
 \end{aligned}$$

3) 1.  $\frac{\partial F_{\alpha\beta}}{\partial(\partial_\mu A_\nu)} = \delta^\mu_\alpha \delta^\nu_\beta - \delta^\mu_\beta \delta^\nu_\alpha$    
 ← indices of derivative (in denominator) up, others down.

$$\begin{aligned}
 \frac{\partial (F_{\alpha\beta} F^{\alpha\beta})}{\partial(\partial_\mu A_\nu)} &= g^{\alpha\beta} g^{\gamma\delta} [(\delta^\mu_\alpha \delta^\nu_\beta - \delta^\mu_\beta \delta^\nu_\alpha) F_{\gamma\delta} + F_{\alpha\beta} (\delta^\mu_\gamma \delta^\nu_\delta - \delta^\mu_\delta \delta^\nu_\gamma)] \\
 &= [(g^{\mu\alpha} g^{\nu\beta} - g^{\mu\beta} g^{\nu\alpha}) F_{\alpha\beta} + F_{\alpha\beta} (g^{\mu\alpha} g^{\nu\beta} - g^{\mu\beta} g^{\nu\alpha})] \\
 &= F^{\mu\nu} - F^{\nu\mu} + F^{\mu\nu} - F^{\nu\mu} = 4 F^{\mu\nu} \\
 \frac{\partial \mathcal{L}}{\partial(\partial_\alpha A_\beta)} - \frac{\partial \mathcal{L}}{\partial A_\beta} &= 0 \Rightarrow \boxed{\partial_\alpha F^{\alpha\beta} = 0}
 \end{aligned}$$

$$\partial_{\mu\nu} - \frac{1}{2} g_{\mu\nu} R = -\frac{8\pi G}{c^4} T_{\mu\nu} \quad \text{Einstein eq. ; } \partial_{\mu\nu}, g_{\mu\nu} \text{ sym, } \Rightarrow T_{\mu\nu} \text{ sym}$$

$T_{\mu\nu} \equiv \text{sym.}$

Angular momentum needs to be conserved